
escala 1:25

Planta (157.5)

27 N10

25 N10

27 N10

25 N10

1
6

 
N

1
1

1
6

 
N

1
1

1
6

 
N

1
1

1
6

 
N

1
1

3
5

 
N

1
2

1

6

 

N

1

21 N13

1
6

 
N

1
2

1

6

 

N

1

1
6

 
N

1
3

1

6

 

N

1

2
1

 
N

1
3

35 N12

1
6

 
N

1
2

1

6

 

N

1

1
6

 
N

1
3

B
B

A A

4 N19 ø12.5  C=324 4 N19 ø12.5  C=324

4 N19 ø12.5  C=324 4 N19 ø12.5  C=324

27 N10 ø10.0 c/12  C=517

14

494

14

25 N10 ø10.0 c/13  C=517

14

494

14

27 N10 ø10.0 c/12  C=517

14

494

14

25 N10 ø10.0 c/13  C=517

14

494

14

1
6

 
N

1
1

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
2

8
7

14

264

14

1
6

 
N

1
1

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
2

8
7

14

264

14

1
6

 
N

1
1

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
2

8
7

14

264

14

1
6

 
N

1
1

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
2

8
7

14

264

14

3
5

 
N

1
2

 
ø

1
0

.
0

 
c
/
9

 
 
C

=
1

9
3

14

86

86

14

1

6

 

N

1

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

1

0

2 20

6

3

20

21 N13 ø10.0 c/15  C=217

14

86

14

14

86

14

1
6

 
N

1
2

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
1

9
3

14

86

86

14

1

6

 

N

1

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

1

0

2

20

6

3

20

1
6

 
N

1
3

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
2

1
7

14

86

14

14

86

14

1

6

 

N

1

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

1

0

2

20

6

3

20

2
1

 
N

1
3

 
ø

1
0

.
0

 
c
/
1

5
 
 
C

=
2

1
7

14

86

14

14

86

14

35 N12 ø10.0 c/9  C=193

14

86

86

14

1
6

 
N

1
2

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
1

9
3

14

86

86

14

1

6

 

N

1

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

1

0

2

20

6

3

20

1
6

 
N

1
3

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
2

1
7

14

86

14

14

86

14

escala 1:25

Corte A-A

2
8

 
N

1
4

1
3

 
N

1
4

1
0

 
N

1
4

1
0

 
N

1
4

23 N15

23 N16

13 N15

42 N16

36 N16

1

3

 

N

2

23 N15

25 N16

1

3

 

N

2

28 N15

2 N22 ø16.0  C=264

4 N20 ø12.5  C=264

2 N22 ø16.0  C=264

4 N20 ø12.5  C=264

2
8

 
N

1
4

 
ø

1
0

.
0

 
c
/
9

 
 
C

=
3

4
3

12

324

12

1
3

 
N

1
4

 
ø

1
0

.
0

 
c
/
2

0
 
 
C

=
3

4
3

12

324

12

1
0

 
N

1
4

 
ø

1
0

.
0

 
c
/
2

5
 
 
C

=
3

4
3

12

324

12

1
0

 
N

1
4

 
ø

1
0

.
0

 
c
/
2

5
 
 
C

=
3

4
3

12

324

12

23 N15 ø10.0 c/11  C=287

14

125

14

9
127

9

23 N16 ø10.0 c/11  C=268

9
127

125

14

13 N15 ø10.0 c/20  C=287

9
127

9

14

125

14

42 N16 ø10.0 c/6  C=268

14

125

127

9

36 N16 ø10.0 c/7  C=268

9
127

125

14

1

3

 

N

2

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

9

5

20

5

6

20

23 N15 ø10.0 c/11  C=287

14

125

14

9
127

9

25 N16 ø10.0 c/10  C=268

14

125

127

9

1

3

 

N

2

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

9

5

20

5

6

20

28 N15 ø10.0 c/9  C=287

9
127

9

14

125

14

escala 1:25

Corte B-B

3
2

 
N

1
4

3
7

 
N

1
4

3
5

 
N

1
4

3
5

 
N

1
4

48 N17

96 N18

54 N17

35 N18

37 N18

2

4

 

N

2

80 N17

80 N18

2

4

 

N

2

80 N17

2 N23 ø16.0  C=494

4 N21 ø12.5  C=494

2 N23 ø16.0  C=494

4 N21 ø12.5  C=494

3
2

 
N

1
4

 
ø

1
0

.
0

 
c
/
1

5
 
 
C

=
3

4
3

12

324

12

3
7

 
N

1
4

 
ø

1
0

.
0

 
c
/
1

3
 
 
C

=
3

4
3

12

324

12

3
5

 
N

1
4

 
ø

1
0

.
0

 
c
/
1

4
 
 
C

=
3

4
3

12

324

12

3
5

 
N

1
4

 
ø

1
0

.
0

 
c
/
1

4
 
 
C

=
3

4
3

12

324

12

48 N17 ø10.0 c/10  C=204

14

83

14

9
86

9

96 N18 ø10.0 c/5  C=185

9
86

83

14

54 N17 ø10.0 c/9  C=204

9
86

9

14

83

14

35 N18 ø10.0 c/14  C=185

14

83

86

9

37 N18 ø10.0 c/13  C=185

9
86

83

14

2

4

 

N

2

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

9

5

20

5

6

20

80 N17 ø10.0 c/6  C=204

14

83

14

9
86

9

80 N18 ø10.0 c/6  C=185

14

83

86

9

2

4

 

N

2

 

ø

5

.

0

 

c

/

2

0

 

 

C

=

9

5

20

5

6

20

80 N17 ø10.0 c/6  C=204

9
86

9

14

83

14

Relação do aço

Corte A-A Corte B-B
Planta (157.5)

Positivos (0.0) Positivos (315.0)

AÇO
N DIAM

Q
UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 64 102 6528

2 5.0 74 95 7030

CA50 3 8.0 73 264 19272

4 8.0 25 494 12350

5 8.0 4 180 720

6 8.0 4 167 668

7 8.0 6 134 804

8 8.0 3 419 1257

9 8.0 3 79 237

10 10.0 104 517 53768

11 10.0 64 287 18368

12 10.0 102 193 19686

13 10.0 74 217 16058

14 10.0 200 343 68600

15 10.0 87 287 24969

16 10.0 126 268 33768

17 10.0 262 204 53448

18 10.0 248 185 45880

19 12.5 16 324 5184

20 12.5 8 264 2112

21 12.5 8 494 3952

22 16.0 4 264 1056

23 16.0 4 494 1976

Resumo do aço

AÇO DIAM C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

8.0

10.0

12.5

16.0

5.0

353.1

3345.5

112.5

30.4

135.6

153.3

2268.9

119.2

52.6

23

PESO TOTAL

CA50

CA60

2593.9

23

Vol. de concreto total (C-25) = 12.32 m³

Área de forma total = 115.7 m²
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